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	Level
	Key Questions

	EP
	· Andy deposits £275 in a bank which pays compound interest at 3.5% p.a.  How long will it take for his money to double?

	8
	· Bill deposits £175 in a bank which pays compound interest at 4.5% p.a.  How much will be in the account at the end of 12 years assuming that he adds no more money, and takes none out?

	
	· A house is reduced in price by 6.4% in order to achieve a quick sale.  The house sells for £220,000.  What was the original asking price for the house?

· Jenny deposits £400 in a bank which pays compound interest at 4% p.a.  How much will be in the account at the end of 3 years assuming that she adds no more money, and takes none out?

	
	· A bike is reduced in a sale by 15% to £510.  What was its original value?

	7
	· If you increase an amount by 10%, then decrease the new amount by 10%, what is the percentage change?

	
	· What happens if you increase an amount by 100%, then decrease the result by 100%?

	
	· A house was worth £215,000 at the start of 2004, and over the course of the next year its value rose by 13.5%.  Using only multiplication, work out the value of the house at the end of the year.

· A car was bought for £17,500, but depreciated by 27% over the first year.  Using only multiplication, work out the value of the car at the end of the year.

· Is a 50% increase followed by a 50% increase the same as doubling?  Explain your answer.

	6
	· A population of mice increases by 115% in two months.  There were 60 mice to start with.  How many are there now?

· An antique clock increases in value from £1500 to £2250.  What is the percentage increase?

	
	· Write 7/25 as a percentage

· Find the price of a £60 plumber’s bill when VAT is added at 17.5%

· A jacket cost £75, but is reduced by 10% in a sale.  What is its new price?

	
	· Find 17.5% of $70

· A jacket cost £70, but is reduced by 12% in a sale.  What is its new price?

· Calculate 23.5% of £48


	5
	· 35% of $70
· What is 12% of £70?
· Find 60% of one kilometre

	
	· Is the following statement true: 60% of 35 is greater than 33% of 60  ?

· 5% of $70
· 75% of £64

· Write 12.5% as   (a)   a decimal,   (b)   a fraction in its simplest form

	
	· What is 10% of £70?
· Calculate 70% of £48

· Write 37% as   (a)   a decimal,   (b)   a fraction

· Write 6% as   (a)   a decimal,   (b)   a fraction in its simplest form

· Write 145% as   (a)   a decimal,   (b)   a fraction in its simplest form

	4
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Write 25% as   (a)   a decimal,   (b)   a fraction

· Write 75% as   (a)   a decimal,   (b)   a fraction

· What percentage of the shape is   (a)   red,   (b)   white ?

· Write 50% as   (a)   a decimal,   (b)   a fraction

· 38% of people in a tennis club are male.  What percentage are female?


Note:  Questions in blue should be done without a calculator – see ‘mental calculations’
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